Math 115
Spring 2017
Lecture 17

USE Exponential rules to Simplify:

$$\begin{array}{ll}
0 & (-4x^{5}y^{2})^{3} \\
= (-4)^{3}(x^{5})^{3}(y^{2})^{3} = -64x^{15}y^{6}
\end{array}$$

$$\begin{array}{ll}
\frac{(y^{7})^{4}}{(y^{7})^{4}} = \frac{2^{4}(x^{4})^{4}}{(y^{7})^{4}} \\
= \frac{16x^{16}}{y^{28}}
\end{array}$$

$$\begin{array}{ll}
\frac{-42x^{7}y^{2}}{6x^{3}y^{20}} = \frac{16x^{16}y^{6}}{y^{28}}
\end{array}$$

$$\begin{array}{ll}
\frac{-3x^{-2}}{y^{5}} = \frac{-3}{(x^{2}y^{5})^{2}} = \frac{x^{6}y^{15}}{-3}
\end{array}$$

$$\begin{array}{ll}
\frac{-3x^{-2}}{x^{2}y^{5}} = \frac{x^{6}y^{15}}{-27} = \frac{x^{6}y^{15}}{27}
\end{array}$$

$$\begin{array}{ll}
\frac{x^{6}y^{15}}{-27} = \frac{x^{6}y^{15}}{27}
\end{array}$$

Give Degree and Coef.

(1)
$$-12x^4$$
 Monomial (2) $25x^9y^1$

Degree = 4 Monomial Degree = $9+1=10$

Coef. = -12 Coef. = 25

(3) $2x^6 - 10x^2$ D=6 (4) $12x^3 - 100x^2 + 400$

D=6 D=2 L.C.=2 D=3 D=2 Constant

C=2 C=-10 Binomial C=12 C=-100 D=0

(5) $17x^6y^8 - 10x^3y^7 + 2000xy - 100$ D=3

D=14 D=10 D=2 Trinomial

C=17 C=-10 C=200 Constant

D=0

D=14, LC=17 Polynomial

Use
$$(A+B)^2 = A^2 + 2AB + B^2$$
 to find
(1) $(7x + 5)^2$ (2) $(4x^3 + 3x^2)^2$
 $= (7x)^2 + 2(7x)(5) + (5)$ $= (4x^3)^2 + 2(4x^3)(3x^2) + (3x^2)$
 $= (4x^2 + 70x + 25)$ $= (4x^5 + 24x^5 + 9x^4)$
(3) $(5x^3y^6 + 2)^2$
 $= (5x^3y^6)^2 + 2(5x^3y^6)(2) + (2)$
 $= 25x^6y^2 + 20x^3y^6 + 4$ D=6+12=18
L.C.=25, Const.=4

Use
$$(A - B)^2 = A^2 - 2AB + B^2$$
 to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - B)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + B^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 = A^2 - 2AB + A^2$ to find
 $(A - A)^2 =$

$$(A + B) (A - B) = A^{2} - B^{2}$$
Conjugates
Use the Sormula above to find
$$(4x + 5)(4x - 5)$$

$$= (4x)^{2} - (5)^{2}$$

$$= (6x^{2} - 25)$$

$$= (x^{2} - 2)(x^{2} + 2)(x^{4} + 4)(x^{8} + 16)$$

$$= (x^{4} - 4)(x^{4} + 4)(x^{8} + 16) = (x^{8} - 16)(x^{8} + 16)$$

$$= (x^{16} - 256)$$

Divide:
$$\frac{32x^{5} - 24x^{3} + 16x^{2}}{4x^{2}} = \frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{24x^{3}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{14x^{5}}{4x^{5}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{14x^{5}}{4x^{2}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{14x^{5}}{4x^{5}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{2}} - \frac{14x^{5}}{4x^{5}} + \frac{16x^{2}}{4x^{2}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{5}} - \frac{14x^{5}}{4x^{5}} + \frac{16x^{2}}{4x^{5}} + \frac{16x^{2}}{4x^{5}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{5}} - \frac{14x^{5}}{4x^{5}} + \frac{16x^{2}}{4x^{5}} + \frac{16x^{2}}{4x^{5}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{5}} - \frac{14x^{5}}{4x^{5}} + \frac{16x^{2}}{4x^{5}} + \frac{16x^{2}}{4x^{5}} = 8x^{3} - 6x + 4$$

$$\frac{32x^{5}}{4x^{5}} - \frac{14x^{5}}{4x^{5}} + \frac{16x^{2}}{4x^{5}} + \frac{16x^{2}}{4x^{5}}$$

SG 13 Due Wednesday

SG 14 Due Thursday

Quiz on both days.

Long Division

Polynomial
$$x^2-5x+6$$

Polynomial $x-1$

except monomial x^3+2x^2-4x+3
 $4x^4-2x^3+7x-2$ $2x+1$

ex:
$$\chi^2 - 7\chi + 12$$
 $\chi - 4$

Torder

There is a missing term, use o for that $\chi = \chi^2 - (\chi^2 - 4\chi)$

Place

 $\chi = 3$
 $\chi = 3$

$$\frac{2x^{3} - 4x + 3x^{2} - 8}{x + 2} = \frac{2x^{3} + 3x^{2} - 4x - 8}{x + 2}$$
order

Nissing term
$$x + 2 = \frac{2x^{2} - x - 2}{x + 2}$$

$$x + 2 = \frac{2x^{2} - x - 2}{2x^{3} + 3x^{2} - 4x - 8}$$

$$x = -x^{2} - (-x^{2} - 2x)$$

$$x = -x^{2} - (-x^{2} - 2x)$$

$$x = -2x - 2x - 2x$$
Final Ans:
$$2x^{2} - x - 2 + \frac{-4}{x + 2}$$
Remainder $\rightarrow -4$

Divide:

$$3x^3 + 2x^2 - 5 = 3x^3 + 2x^2 + 0x - 5$$

 $x - 1$
 $3x^2 + 5x + 5$
Order $x - 1$
 $3x^2 + 5x + 5$
Missing term: $x - 1$ $3x^3 + 2x^2 + 0x - 5$
 $x - 1$ $3x^3 + 2x^2 + 0x - 5$
 $-(3x^3 - 3x^2)$
 $x - 1$ $3x^3 + 2x^2 + 0x - 5$
 $-(5x^2 - 5x)$
 $x - 1$ $3x^3 + 2x^2 + 0x - 5$
 $-(5x^2 - 5x)$
 $x - 1$ $3x^3 + 2x^2 + 0x - 5$
 $-(5x^2 - 5x)$
 $-(5x^2 - 5x)$
 $-(5x - 5)$
O

Divide:

$$\frac{4x^2 - 5x - 7}{x + 4}$$
 $\frac{4x^2 - 5x - 7}{x + 4}$
 $\frac{-21x - 7}{x - 21x - 84}$
 $\frac{-21x - 21x}{x - 21x - 84}$

Divide:

$$\frac{9\chi^{3} - 3\chi^{2} - 3\chi + 4}{3\chi + 2}$$

$$\frac{3\chi^{2} - 3\chi + 4}{3\chi + 2}$$

Divide

$$\frac{\chi^{3} + 64}{\chi + 4}
 = \frac{\chi^{3} + 0\chi^{2} + 0\chi + 64}{\chi + 4}
 = \frac{\chi^{2} - 4\chi + 16}{\chi + 4\chi^{2}}
 = \chi^{3} + 0\chi^{2} + 0\chi + 64
 = \chi^{2} = \chi^{3}
 = \chi^{2} = \chi^{3}
 = \chi^{2} + 0\chi + 64
 = \chi^{2} + 0\chi + 64
 = \chi^{2} - 4\chi + 16
 = \chi^{2} + 0\chi + 64
 = \chi^{2} - 4\chi + 16
 = \chi^{2} - 4\chi + 16$$

Find
$$A \in P$$
:

$$P = 2L + 2W$$

$$P = 2L + 2W$$

$$10x^3 + 4x^2$$

$$P = 2(10x^3 + 4x^2)(10x^3 + 4x^2)$$

$$P = 2(10x^3 + 4x^2) + 2(10x^3 + 4x^2)$$

$$= 20x^3 + 8x^2 + 20x^3 - 8x^2$$

$$= 100x^6 - 16x^4$$

Sind
$$A \notin P$$

$$A = (5x^3 + 3)^2$$

$$P = 4S$$

$$5x^3 + 3$$

$$F = (5x^3)^2 + 2(5x^3)(3) + (3)^2$$

$$A = (5x^3)^2 + 2(5x^3)(3) + (3)^2$$

$$A = (5x^3 + 3)^2 + 2(5x^3)(3) + (3)^2$$

$$A = (5x^3 + 3)^2$$

Class Quiz:

- (1) Simplify: $(-2x^3)^5 \cdot 5x^2$
- @simplify: 244-6
- 3 (6.8 × 1012)· (5.5 × 1017)